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QUESTION 1

Which one of the following requires a network service package defined in a catalog?
A. Cloud software platform

B. Cloud infrastructure software

C. Cloud orchestration

D. Software defined network

Correct Answer: C

QUESTION 2

Which of the following best defines what is meant by Network Slice isolation?
A. Security + Cloud isolation

B. Resource + Security isolation

C. Transport + Cloud isolation

D. Resource + Traffic isolation

Correct Answer: B

Reference: https://www.gsma.com/futurenetworks/wp-content/uploads/2018/06/Network- Slicing-Use-Case-
Requirements-_-FInal-.pdf

QUESTION 3

What is the "sweet spot" for Industry 4.0?

A. The "sweet spot" for industry 4.0 is the intersection of URLLC, eMBB and mMTC.
B. The "sweet spot" for industry 4.0 is a double-digit revenue growth.

C. The "sweet spot" for industry 4.0 is a deployment strategy for delivering the required capacity and coverage
forindustrials.

D. The "sweet spot" for industry 4.0 is the intersection of operational, information and communications technologies.

Correct Answer: D

QUESTION 4

What is the role of 5G in meeting the automation needs of Industry 4.0?
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A. 5G plays a minor role on Industry 4.0 because the requirements are mainly focused on mMTC and IoT.
B. 5G requirements for Industry 4.0 are mainly focusedon Ultra high bandwidth needs.
C. 5G plays an important role on Industry 4.0 because it enables the cloud automation with baremetal platforms.

D. 5G requirements for Industry 4.0 are mainly focused on ultra low latency characteristics but also fromhigh throughput
and massive connectivity.

Correct Answer: D

QUESTION 5

Resource elasticity in Cloud enables which of the following actions? (Choose two.)
A. Relocate VMs between data centers when a fault is detected.

B. Deploy VMs across data centers when a new slice is needed.

C. Add resources to existing VMs when traffic is high.

D. Add VMs when traffic is high.

Correct Answer: AD
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